Q.35

Q.36

Q.37

Q.38

Q.39

A jeweler has a 20 gram ring that is 60% gold and
40% silver. He wants to melt it down and add
enough gold to make it 80% gold. Number of
grams of gold there should be added, is

(A) 8 grams (B) 12 grams
(C) 16 grams (D) 20 grams
. 1
If sin x + cos x = 5 then the value of
(sin®x + cos’x), is
A > B 3
© 5 D) 1

Which one of the following identity is dependent
on 0
(A) (sin 0 + cos 0)% + (cos 0 —sin 0)?
(B) sin? 0 (1 + cot 0) + cos? 0 (1 + tan? 0)
(C) (1 +cotB+cosec ) (1+cotB—cosec0)
1 1
. 2 +
1+sin” 0

(D)

1+ cosec’0

If 3x2+10x +3 =(ax +b) (x + 3) then (a> + b?)
equals
(A) 10
©)8

(B)9
(D)4

T X
Suppose that 0 <0 < 5 and sec 6 = 3

Then relation which is true is

2_
(A)tan 0= X =9

X
B)sin0= T——
(B)sin 6 m
X
(C)cosecOZ\/X2—_9

2_
(D)cotO= X9
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TP Saotd @ U 20 ™ & {1 8 s 60%
AT TG 40% dfET €1 98 s fadmes wad
q=T § AT fAetar 80% I arel ST ®,
3% ford SN fhae U™ A T A= g

(A) 8 7T (B) 12 I

(C) 16 ™ (D) 20 9™

. 1 .
I sin X + cos x = 5 g, al (sin’x + cos’x) &7

a9 ®
5 3
(A) 16 (B) <
5 11
©) g (D) 16

e & 4 ST FdafieT 0 R fR @

(A) (sin 0 + cos 0)? + (cos 0 —sin 0)?

(B) sin? 0 (1 + cot 0) + cos? 0 (1 + tan? 0)

(C) (1 +cotB+cosec ) (1+cotB—cosec0)
1 1
5 T

1+sin” 0

(D)

1+ cosec’0

g 3x2+10x+3=(ax+b)(x+3)8

(@2+b)z
(A) 10 (B)9
)8 (D)4
A1 f 0<e<gQﬁsece=§%ﬂ#Wﬂa‘f
oI g
2
(A)tan 0= X =9

X
B)sin0= ——
(B)sin© /—x2—9
_x
(C) cosec B = /—x2—9

x2 -9

(D)cotO=
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Q.45

13
If seca= ? where o lies between 0° and 90°

2sino—3cosa .
then the value of — 1s
4sino—9cosa

(B)3
(D)7

(A)2
)5

\/a2+2a+1 =a+ 1 is true for

(A)all real values of a
B)a>0

(C)a=-1

(D)a<o0

Let p =sin x + cos x then the expression
(sin*x + cos*x) in terms of p is

1 o, 1 4
R — +_
(B)2 p Zp

1, p 1, p*
O)l+—p —— D)l-—=p +—
©) 5P (D) L

1 5, 1 4
_+ _—
(A)2 p Zp

The number of real numbers satisfying the equation
Vx =2 -x)Vx is
(A)O
(©)2

(B) 1
(D)3

A square is cut into two equal rectangles, each
with perimeter 36. The area of the square, is
(A)36 (B) 100

(C) 144 (D) 196

Angles are complements if they add to 90°.
Let ZA be nine times /B and the complement of
/B be nine times the complement of ZA.
Find ZB.

(A) 6° (B) 8°
(C)9° (D) 10°
CODE: A
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5

s & 2sino—3cosa S

4sino—9cosa
(A)2
©)5

(B)3
(D)7

VaZ+2a+1 =a+ 1= 8 foas o) aea &
(A) a® 9 aafdd A & ford

B)a>0

(C)a=-1

(D)a<o0

AMTp =sin X + cos X &, Al &ST® (sin*x + cos*x)
p P U H T

1 5, 1 4 1 o, 1 4
(A)2 p Zp (B)2 p Zp

1, p 1, p*
O)l+—p —— D)l-—=p +—
©) 5P (D) L

THEr VX = (2 - x)VX B A B Tl
qIRA(dD AR BT T &
(A)0 (B) 1
(C)2 (D)3

UH T BT T THH Il H BIel Sl 8, TAD
BT URAY 36 8, I a7 &7 &% &

(A)36 (B) 100

(C) 144 (D) 196

P R’ B & IfQ I Sile R 90° 8 | AT
ZA, ZB &I Al AT & A1 LB B Reb LA D
RP HT Al AT S, A LB T

(A) 6° (B) 8°

(C)9° (D) 10°
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Q.50

Q.51

Three discs A, B and C are touching each other.
If A is rotated, B and C also start rotating. A is
rotated clockwise, then

A B C

(A) Both B and C rotate clockwise.

(B) Both B and C rotate anticlockwise.

(C) B rotates clockwise and C rotates
anticlockwise

(D) B rotates anticlockwise and C rotates
clockwise

A block of mass 120 g moves with a speed of
6.0 m/s on a frictionaless horizontal surface
towards another block of mass 180 gkept at rest.
They collide and the first block stops. Find the
speed of the other block after the collision.

(A) 1m/s (B)2m/s

(C)3m/s (D)4 m/s

Neglecting the effect of air resistance a stone
dropped off'a 180 m high building lands on the

groundin:
(A)3s (B)4s
(C)6s (D) 18s

The standard 1 kg mass is attached to a
compressed spring and the spring isreleased. If
the massinitially hasan acceleration of 5.6m/s?,
the force of the spring has a magnitude of:
(A)2.8N (B)5.6N

(C)11.2N (D)0

Which of the following bodies has the largest
kinetic energy?

(A) Mass 3M and speed V

(B) Mass 2M and speed 3V

(C) Mass 3M and speed 2V

(D) Mass M and speed 4V

The mechanical advantage of any machine is-
(A) the efficiency of the machine

(B) the work done by the machine

(C) the ratio of the work done by the machine to
the work expended on it

(D) the ratio of the force exerted by the machine
to the force applied to it
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A TfRlt A, BaC Udh TR BT W9 R & E |
i AP gART Sl & df B a C W) o &=
R R <ot & | A Gferomad forem # go awe
ar

A B C

000

(A) BaC g1 gféomad feem # goie &=l £ |
(B) B9 C G amrac faem # goi= a=elt & |
(C) B =feromad goiq &=l & T C amrad o
PR T

(D) B amrad goiF &=l © derr C gferomad gor
CRGIRS

U gyored &fst I8 W 120g 9 &1 Uh
it fav R Rerd 180 g 509 & TN @i dl
3R 6.0 m/s T A Y HRAT & | ITH STDhR B
2 I Ul sl b Sl & | TdbR B U

T e B A1 A1 DI |
(A) 1 m/s (B)2 m/s
(C)3 m/s (D)4 m/s

IR IR & TG T 979g AHd 84 U 180 m
S AR A Ud YR Bl [RT WR SHSD eRIel
T® ygan # forar T w9 © —
(A)3s (B)4s
(C)6s (D) 18s

A& 1 kg S BT b HUItsd RUT 4§ |
foram Sirar 2 e R 1 gaa R & S 7 |
I G UR™ | 5.6m/s? @RI GaT 7, df

RYT & g1 &1 alRHmor 23—
(A)2.8N (B) 5.6 N
(C) 11.2N (D) 0

1 5 § DI T STHaH TS Soll & 57
(A) 3M SIHH dAT V a1l dTell
(B) 2M weg|= 21 3V Arel drell
(C) 3M == a1 2V dTel aTel!
(D) M <49 211 4V A1l aTel!
ot 7= &1 Iifyd T & —
(A) AL T <eErar
(B) w1 g1 foham rar &
(C) 73 g1 fbU TV H1d Ud 39 WR ARIT o
BT 3T
(D) 729 §RT & 71U 91 U4 S99 WR 3R d
BT 3T
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Q.55

Q.56

Q.57

Q.58

Suitable units for the gravitational constant G are:
(A) kg'm/s? (B) m/s?
(C)N-s/m (D) m?/(kg's?)

An object at the surface of Earth (at a distance R
from the center of Earth) weighs 90 N. Its weight
ata distance 3R from the center of Earth is:

(A) 10N (B)90N

(C)270N (D) 810N

The pressure exerted on the ground by a man is
greatest when:

(A) he stands with both feet flat on the ground
(B) he stands flat on one foot

(C) he stands on the toes of one foot

(D) he lies down on the ground

A wood board floats in fresh water with 60% of
its volume under water. The density of the wood

in g/cm? is:
(A)0.4 (B)0.5
(©)0.6 (D) less than 0.4

In the diagram below shows a water wave. The
interval PQ represents:

Displacement

SN
}/"\V

(A)wavelength
(C) 2 x amplitude

(B) wavelength/2
(D) time period/2

What value of Z (atomic number) and A (mass
number) result in the following gamma decay ?
BC 0 X+y
(A)Z=5;A=12
C)Z=7;A=12

(B)Z=4;A=38
(D)Z=6;A=1

2

A thermometer indicates 98.6°C. It may be:
(A) outdoors on a cold day

(B) in a comfortable room

(C)inacup ofhot tea

(D) in anormal person’s mouth
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Tyl Fdie G & ford Suged gals ® :
(A) kg'm/s? (B) m/s?

(C)N-s/m (D) m?/(kg's?)

gl 1 g (A B s I R P W) W TP 9
BT AR 9ON 2| 9ol & B 9 3R T R sHHT
IR T :

(A) 10N (B) 90 N

(C)270 N (D) 810N

Uh Afdd gRT eRId R ARG < AfawmeH
BIAT 8, 94 :

(A) T8 U GFI URI BT ERTT UR FUIC & g
GST Bl & |

(B) 9% 31U U TR Pl HUTE T&d g Wl BIT ¢ |
(C) a8 319 Yo R & F[ferdl IR @1 EIel 2 |
(D) 98 eRTdel R A1 o STl © |

g U # B BT T A1 AT AT BT 60%
U & 3FER @ gY IR © | Ade! Bl 1l (g/

cm’)H B

(A)0.4 (B)0.5

(C)0.6 (D) 0.4 % T

W guf T e H Ud ofal a_ Uefid B
3Tl PQ UelRia #rar ®

‘ ICESILE

SN

Q
(A) TTee (B) TRTa/2
(C) 2 x MM (D) 3TmaciaTer/2

=1 T e | Z (WRAY] HHIB) T A (ST
TT) B HF FAT U BT & P

2C 50 X+y
(A)Z=5;A=12
(C)Z=7;A=12

(B)Z=4;A=38
(D)Z=6;A=12

U AT9HTdT 98.6°C TR & | I8 AT 81 Hehell
3

(A) ST & AT # qrER @1

(B) U IIRMETIH BT BT

(C) U &Y TH TR B

(D) Us AR A & g BT
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Q.63

Q.64

If distance between the object and lens is equal to
distance between its image and this lens. Find
where the object is located.

(A) at 2F from lens (B) atF from lens

(C) at 3F from lens (D) at4F from lens

What is the value of 0 in the following ray diagram?

(A)12.5°
(C) 50°

(B)25°
(D)37.5°

Choose the correct statement related to the image
formed by a plane mirror.

(A)Aplane mirror always form a diminished image.
(B) The image formed by a plane mirror may be
magnified or diminished.

(C) The image formed by a plane mirror is always
unmagnified but inverted.

(D) The image formed by a plane mirror is always
unmagnified and erect.

A student writes one of the steps of the solution as

1
S=3t+ 5% 5t2. He is most likely solving a

problem related to
(A) Kinematics (B) Magnetism
(C) Optics (D) Ohm's law

A well cut diamond appears bright because
(A) itemits light

(B) itisradioactive

(C) of total internal reflection

(D) of dispersion

The near and far points of human eye are
(A) 25 cm and infinite

(B) 50 cmand 100 cm

(C)25cmand 50 cm

(D)0Ocmand 25 cm
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IS I T oI b 7 DI G 99D Ui T 59
o B HEY Y B SRIER g, I S DIy fob avg
el I B ?

(A) o=F 9 2F =R (B) o1 4 F wR
(C)T<T |3F W (D) o1 H4F =R
o foh_oT o # O &1 A FT 7 °?

(A) 12.5° (B) 25°

(C)50° (D) 37.5°

T AT U g1 Afia ufdfem & awfya a8
FHI g |

(A) FHITS SUUT BRI T BIeT Uffaw a1 2 |
(B) W9de <uvr g1 Afa ufafew smafda
BICT 81 FadT © |

(C) wada Tdur grr fafda gfafass @ear
3i—3mafdfa farg Seer BT 2 |

(D) 99aa 9o grr fafda gfafess @t
S—amafid g Hem B 7 |

1
q—cﬁmgazﬁq—cﬁq—c{aﬁS%HE x 5t2 % w7

- o (aN
H forga %\I ST JARIDAH TAHHIIAT [hAd

AT U BT 8 R DI 8 ?
(A) 7T (B) g
(C) waTrra (D) 3™ &1 A

TP HAMIRT BHeT gl ERT THdeR fawrs <am @
FifH

(A) IE THTL BT IO HRaT 2 |

(B) Uz fSarefded grar 2 |

(C) guT MR TRIad & HROT

(D) fagror & HRoT

AT 93 & Ade 9 ) fag &
(A) 25 cm AT

(B) 50 cm @211 100 cm
(C)25cm Ta1 50 cm

(D) 0 cm @@ 25 cm

PAGENO.#11



Q.65

Q.66

Q.67

Q.68

Q.69
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The surface area of a concentrator type solar
heater is 5 m?. It can reflect 80% of solar radiation
incident on it while it absorbs the rest. Calculate
the energy concentrated by the heater at its focus
in 2 hours. If solar energy were delivered to it at
the rate of 0.4 kJ/m?s.
(A) 11520 KJ

(C) 2880 KJ

(B) 13610 KJ
(D) 14400 KJ

What is the resistance between A and B in the
given network ?

A

380

< <
302 260

Be——-
(A)8 Q) (B)10Q
) 120 (D) 14 Q)

Two bulbs (of 100 W and 200 W) have been
connected in parallel and 220 V AC fed to them
from common port. Which bulb will have more
current flowing through it ?

(A) bulb of 200 W

(B) both will have same current

(C) bulb of 100 W

(D) cannot say

A vertical wire is carrying current in the upward
direction. Then the direction of magnetic field in
the west direction will be

(A) towards south (B) towards east

(C) towards west (D) towards north

A charged particle moving in a magnetic field
experiences a resultant force

(A) in the direction of field

(B) in the direction opposite to that of field

(C) in the direction perpendicular to both the field
and its velocity

(D) none of the above

Which of the following is not a part of AC electric
generator ?

(A) rotating coil

(B) stationary brushes

(C) magnet producing magnetic field

(D) split ring type commutator
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I T Acdd 4 ATB & 727 UfoRIY T © ?
A

380

< <
302 260

Be——-
(A)8 Q) (B)10Q
) 120 (D) 14 Q)

ST geat (100 W 7200 W &) BT AR | SireT
T T 82 SIS |d | 220 VAC ugH
P ITS B | DI g I AP RT garRd sl ?
(A) 200 W & dcd &

(B) S # a1 A B8R

(C) 100 W & gcd &

(D) & &1 BT ST Hehall

U $ed dR SR DI 9 & g7 garfad o <ET g,

o1 uftem fem ¥ gra@ A @ e B
A RO B FR (B B AR
(C) ufeam &I IR (D) ST &I 3R

FRIDHI &5 ¥ T Yeb AR BT Tep IR
T 3TIHT BTl & —

(A) &5 ot feem 4

(B) &= & faudia faem #

(C) &3 9 39 o Sl & ofgaq faem #

(D) SWIe ¥ ¥ BIg &l

e & & B AC fagga SIS &t 9eT =181 § 2
(A) T grsed

(B) Rer o3

(C) DI &5 IU~ PR aTell Jradh

(D) faeR 961 UHR HT HRJCeR
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Q.75

Tyndall effect is related to
(A) atmospheric refraction
(B) scattering

(C) reflection

(D) dispersion

Select the correct statement

(A) An electric motor converts mechanical energy
into electrical energy.

(B) An electric generator works on the principle
of electromagnetic induction.

(C) The magnetic field lines originate from North
pole of magnet.

(D) A wire with a green insulation is usually the
live wire of an electric supply.

Which of the following will have the fastest rate of
diffusion?

(A) Smell of hot cooked food

(B) Smell of cold food

(C) Liquid water

(D) Ice

Which ofthe following options were not identified
as a Dobereiner triad?
(A)N, P, As

(C)Ca, Sr, Ba

(B)Li, Na, K
(D)Cl, Br, I

If P,Q,R,S represents four elements in periodic
table with the following information regarding
group and period to which they belong, then select
the correct option.

Information :

P : Group no. 2, period no. 5

Q : Group no. 1, period no. 6

R : Group no. 16, period no. 2

S : Group no. 17, period no. 2

(A) P>Q>S >R s the order of atomic size
(B) P is metal, Q & R are metalloids and S is
nonmetal.

(C) Q>P>R>Sisthe order of size.

(D) R & S are metals and P & Q are nonmetals
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fevse wma forasy wwafRud © ?
NEIRCLSKIDECEERE

(B) yaivia

(OLNERE

(D) fagrgor

AL BT G-

(A) Us faea AieR e ol o1 fagd ol 4
IEAN T |

(B) U fa=la Sifva faea g URT & RAgT=
TR B HRaT 2 |

(C) FraaoR &5 WaRl gradh & Sl gd o Fdserh 2 |
(D) B FaTeld ARV Tl AR AT g

TCIE BT fhy aR 8idm 2 |

fa ¥ 9 fegs faurer &) ) waifere
BR 2

(A) TH T gY I B I

(B) BU< AT &1 T

(C)za w1

(D) T%

=1 & 9 f5a fadea &1 SRR B3d grT =81
THS™AT ST FhT ?
(A)N, P, As
(C)Ca, Sr, Ba

(B)Li, Na, K
(D)Cl, Br, I

afg P,Q,R,S armad ARell # IR dwdl T 11 T8
qAT 3Tt fRY I Tfd 2, i o Fafu
P 7, dI FeI fAhed BT =T N |

lpuk :

P : o \%n 2, emad Hwar 5

Q : ot AT 1, 3ad AT 6

R : a3 =T 16, SMad AT 2

S : ot AT 17, e AwEr 2
(A)P>Q>S >R URHIT AMHR & HH 2 |
(B) P &g 2, Q T R SUITg AT S e © |
(C)Q>P>R>S3NPHR &T HH |
(D)RTAAS ] & UG P qem Q 31eqg @ |
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Q.80

Q.81

Q.82

What will be the number of electrons in the 'M'
shell of an element whose mass number is 58 and
has 30 neutrons.
(A)18
©) 16

(B) 14
(D) 12

Identify correct set of True (T) & False (F)
statements :

(I) Solution becomes colourless when excess of
potassium permanganate is added to warm
ethanol.

(I1) Solution of glacial acetic acid will have a higher
pH as compared to HCI solution having same
concentration.

(IIT) Copper sulphate crystals when exposed to
moisture turns blue.
(A)FTT

(C) FFT

(B)TTT
(D) TFF

An element X' exists as two isotopes X, and X
having atomic masses 20u and 22u. If the average
atomic mass is 20.046 then incorrect statement
willbe:

(A) Percent abundance of X, is more as compared
to X,.

(B) Percent abundance of X is 2.3%.

(C) Percent abundance of X, is 97.7%.

(D) All the options are incorrect.

20g of sugar is dissolved in 80 gm of water if
density of solution is 1.2 gm/ml then calculate
mass by volume percentage of solution.
(A)25% (B) 20%

(C) 16.67% (D) 10%

Which of'the following is not a pure substance?
(A) Hydrochloricacid (B)Milk
(C) Fluorne (D) Gold

An organic compound consists of carbon,
hydrogen and oxygen. If ratio of masses is 12:3:8
respectively then what will be its emperical
formula.

(A) C,,H,Oq4
(C) C;H,O

(B) C,H,0
(D) C,H,

Which of the following oxides can produce H,0O
by reactions with NaOH as well as HCI?

(A) ZnO (B) K,0

(C) CO, (D) CO
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Uh dcd & 'M' DI H soide@l b AT/ r
grfl, foaa gerae S 58 den =g 30
2l

(A) 18
(C) 16

(B) 14
(D) 12

|E (T) @1 Tad (F) Bl & 981 aead ol
EEEIGINE

(I) 519 T4 geMTar # Ui tRATe &1 e
fyamar Star € ar faaya IEE 8 oAl
2l

(II) Rre wfifess ot & faers &1 pH 9+
Aigar 9l HCI faa@s &1 o 3§ =9 8l
g

(IIT) SR Fehe fheeal Bl TH H Gell Bled W
qg AT BT I & |
(A)FTT

(C) FFT

(B)TTT
(D) TFF

T e X' 1 IRl X, dor X, B wu H
SuRerd & forde WA g 20u Ta122u ? |
IfE 3IRI WRATY] Ggd 20.046 8 AT TeAd HAF
BT :

(A) X @1 Gorl # X, 1 Hfcer SueTerdr e
gl

(B) Xy, ® Hfcrerd Suererdr 2.3% 2 |

(C) X, ® wfcrerd Sueterdr 97.7%.

(D) w41 fade TTeta ® |

20g TTHT BT 80 gm el # fIerr fvar wam, afe
faera &1 9@ 1.2 gm/ml & A1 fdees & g™
DI I TR # IO HIFY ?

(A)25% (B) 20%

(C) 16.67% (D) 10%

e o & DI g uere T8 212
(A) EESIFARS 37t (B)
(C) TelI (D) %ot (T

Uh HIaD ANH H BIed, BTgsor oI ffaRie™
21 I ggaHEl & orgud HHe: 12:3: 88 @l

FHDT AU A AT B 2
(A) C,,H;0, (B) C,H,O
(C) C;H,O (D) C,H

= & | P sffearss NaOH @@ HCl @& arer
aIffspar eva H,O<ar & 2

(A) ZnO (B) K,0

(C) CO, (D) CO

PAGENO.#14



Q.83

Q.84

Q.85

Q.86

Consider the following set-up for checking Q.83
conductance of the solution. Which ofthe following
samples will not cause glow in the bulb?

OV Batlery—— e Bulb

i <«<—Switch

—Beaker

;/Nail

€=4— solution
—+—Rubber cork

(A) Rain water

(B) Ethanol solution

(C) dil. Sulphuric acid solution
(D) Brine water

From the following information identify 'C".

Organic Acid (A) +Alcohol (B) > C
Given that 'A' is third member of homologous
series of carboxylic acid and B is second member
ofhomologous series of alcohol.

(A) CH,—~C -0 - CH, - CH,- CH,

Q.84

0
(B) CH, =CH,
(C) CH, - CH, - CH = CH,
0

(D) CH,- CH, - C -0 - CH, - CH,

Which of the following will have maximum mass? Q.85
(A) 1 mole of nitrogen molecule.

(B) 1/2 mole of oxygen molecule.

(C) 1/2 mole of O, molecule.

(D) 1/4 mole of sodium sulphate.

If Thomson's model of an atom were to be true,
then what would be the results of Rutherford's Gold
foil experiment.

(A) All the a-particles would have passed through
the foil without much deviation.

(B) Most of the a-particles would have passed
through without much deviation.

(C) None of the a-particles would pass through
the atom.

(D) Both (A) and (B)

Q.86

CODE:A

I ae @1 areiddT & S1d dxd & forg 4=
eyl R faaR $Iforg | e fag 10 17@1 4 9

5 & gRT 9cd T8l el ?
6V Battery—w «—Bulb
—{HH}—(uj(—SWitCh
e—Beaker
| __Nail
34— solution
,,,,, —-t— Rubber cork
UNELIISE
(B) vHTa faeras

(C) a7 AR 31 faera
(D) 31T~ WRI(sTg) ST

=1 sffsi gRT 'C' 1 ygdIY

BEfAS 3T (A) + Tedbieid (B) — C
fn;k x;k § 'A' FeifRIfas sva @& |ora o
BT TRIRT IS & 77 B Uedhlalal & Fofla Sof
BT AT A B |

(A) CH,—C -0 - CH, - CH,- CH,

0
(B) CH, =CH,
(C) CH, - CH, — CH = CH,
0

(D) CH,—~ CH,- C -0 - CH, — CH,

= 7 9 fhaeT g Falfde s8R ?
(A) 1 9t ATSEIST 317

(B) 1/2 A1 3iTeRiTST 3]

(C) 1/2 #at & (0;) &1

(D) 1/4 Wit AITSTH Aehe

Ife ATHET ®T WAV ufawy |El 8,
YERBTS & U g1 TN &1 gRem dr g

(A) 9T a-oT ¥ faafera gy faar o= 9
BIhR oI} ST |
(B) 31frpTer 09T 4T 21f¥e faerer= & o

(C) ®IS 1 o-HU URATY] H BIHX el ToRT]
(D) (A) T (B) &I |
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Q.87

Q.88

Q.89

Q.90

Which of the following reactions with O,(g) is an
endothermic reaction?

(A)N, +0O, —» 2NO(g)

(B) C(s) + O, — CO,(g)

(C) H, + 1/20, — H,0(])

(D) CO(g) + O,(2) > CO,(g)

A solution of metal nitrate 'A'is added to reddish
brown metal 'B'. In the reaction a blue coloured
compound is formed along with metal. The metal
in'A' when exposed to air turns black. Which of
the following options is correct?

(A)'A'is Cu(NO,),and 'B'is Ag

(B) 'C'is Cu(NO;), and 'A"is Mg(NO;,),
(C)'B'isAgand'A'is AgNO,

(D)'B'is Cuand'A'is AgNO,

Identify the incorrect statement regarding
isotopes, isobars and isoelectronic species:

(A) ,,K* and ,,Ca* are isobars and hence their
chemical properties are different.

(B) Ne, F-, Na" and AlI"3 are isoelectronic and
Al is the smallest of these four.

(C) None of'the isotopes of hydrogen consist of
neutron.

(D) If an element has no isotopes, then mass of
the atom would be approximately same as the sum
of protons and neutrons in it.

Which of the following gas is primarily responsible
for extinguishing fire in soda-acid fire extinguisher?
(A)H, (B) CO,

(C)H,0 (D) CO

CODE:A

Q.87

Q.88

Q.89

Q.90

= % 9 IR st O,(g) @ wrer SeArad
arfaferar & 2

(A)N,+ 0, > 2NO(g)

(B) C(s) + O, = CO,(g)

(C) H, + 1/20, — H,0())

(D) CO(g) + O,(g) > CO,(g)

UF gTfcads Agge & fdera 'A' ot X o1q 'B'
H fiemar T | sifafhar # g el 1 @1 AiffTd
g1 ® AT T g3 | A" ¥ IuRerd o1g arg b
TS H M TR BTeAT B 1l 2 | 77 7 & DI
fadea wEr 8 2

(A)'A" Cu(NO,), 8 T 'B'Ag® |

(B)'C' Cu(NO,), & T 'A' Mg(NO,), ¢ |
(C)'B'Ag® @I 'A' AgNO, B |

(D)'B' Cu® @ 'A' AgNO, ¢ |

AR D, THITRS TAT AHgolde -1 Wit &
Hed # TeAd A By A

(A) K4 err , Ca*® waeRe qorr s
NI o7 T

(B) Ne, F-, Na* @2 Al wwgeragie & qer
Al 39 TRI # 999 BIeT B |

(C) TS & el W R # =Igid -1ei
BIAT & |

(D) Tf foxll Tea BT DIS ARG T8l Bl &,
Al URATY] BT GIAE 39H SUReT WISl dem

[P B AT @ T 2

FreT—are 3MfT oo # 1 # 9 B9 i
1 dR TR AfT Ime & forg STRerN 8kl 82
(A)H, (B) CO,
(C) H,0 (D) CO
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